Name: Date:
Chapter 3 Test Gr4 Addition & Subtraction Practice Test

1. One answer for each sum is correct circle the correct answer for each.
Estimate to identify the correct answer. Show your work.

a) 3987 + 1710 = 4297 or 5697 3987
+ = +1710
b) 896 + 1005 + 1809 = 3710 or 4710 896
+ + = 1005
+1809
c) 209 + 298 + 346 753 or 853 209
+ + = 298
+346

2. a) Will the total of these 3 lengths be greater than 6000 cm? Use the
left to right addition strategy and then estimate to validate
your answer.

[ ey [ =]
3445 cm 1110 cm 1278 cm
3 4 4 5 Estimate:
1 1 1 0
+ 1 2 7 8
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3. Madeleine is going to walk to the store | StoreA

with her older sister. Which store is closer | 776 m + 1387 m + 1098 m
to her home? Explain what you did. Use
the right to left addition strategy (show

grouping). Store B
Store A Store B 1875 m + 501 m + 1870 m
776 1875
1387 501
+1 098 +1870

Which store was closer?

4. Use mental math to add. Explain what you did. (show
your work on the number line).

+1 +1 //iS.QK +50
a) 550+199= 749 7. Yy

199 200 700 750
550 + 200 = 750 -1
+ +
+1
b) 1000+499 = Yy TN o
499 500 1 500
+ =
+ +
1 //——\.’
c) 500 +181= E. s QL o
180 680 681
+ =
+ +

1999 2000 7000

+1 n/—\
d) 5000+1999= I .

+ =
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1. One answer for each sum is correct circle the correct answer for each.
Estimate to identify the correct answer. Show your work.

[
a) 3987 + 1710 = 4297 or(5697) LYTY
4ooq + 1700 = 5700 +1710
517
41
b) 896 + 1005 + 1809 = or4710. 896
Joo +Jooo +1ig00 =_3700 1005 —
+1809 7
3710
2
c) 209 + 298 + 346 = 753 or@ 209
K00+ 300 + 350 =_§50 298
+346
§FJ 3

2. a) Will the total of these 3 lengths be greater than 6000 cm? Use the

left to right addition strategy and then estimate to validate
your answer.

I $ 20
3445 cm 1110 em 1278 cmrt .
| - 3
3 4 4 5 Estimate:
1 1 1 0
1 2 7 8
MMmu:»fy 5 | o 5 10 3000 + [ 000 + 1200 . 5300
>
hupolyalf 7 O |0
{.gdij—v / A O
H (3
5 8§ 3 3

TR
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3. Madeleine is going to walk to the store | StereA
with her older sister. Which store is closer | 776 m + 1387 m + 1098 m
to her home? Explain what you did. Use FRof
the right to left addition strategy (show
grouping). Store B
Store A Store B 1875 m+501 m+ 1870 m =
AT fa ! Y24
+ 776 1875
1387 501
+1 098 +18790 —
326! Ha46 3
Which store was closer? < Jnre ﬂ (s closer +o home._
%2l m

4. Use mental math to add. Explain what you did. (show
your work on the number line).

+1 +1 /;l—ﬁ_”\ +50
a) 550+199= 749 g M

199 200 700 750
550 + 200 = 750 -1
+ +i000
+1 J
b) 1000 +499=_{ 499 ﬁf’f—\s{
499 500 1500
laoo+ &0 = 1500 -
+ 500
1 m
c) 500+181=_ (2 9/ n
180 680 681
500 + 180 = 80 + |
+ | + 5000
+1 r\/—_\
d) 5000+1999=_0999 ! | ‘
1999 2000 4000

3000 + Kocx= Jooo ~f




